THE INFLUENCE OF ANEMIA ON MORTALITY RATES, DURATION OF HOSPITALIZATION, AND RESOURCE UTILIZATION IN PATIENTS ADMITTED WITH A PRIMARY DIAGNOSIS OF VENTRICULAR TACHYCARDIA: A NATIONWIDE ANALYSIS 2016-2020

Ricardo Machado Carvalhais¹, Kamran Mahfooz², Kenneth Ong², Han Naung Tun³, and Syed Ashfaq Najeed⁴

¹Montefiore New Rochelle Hospital ²Lincoln Medical Center ³University of Vermont Department of Medicine ⁴Wright State University

June 22, 2023

Abstract

Background: Ventricular Tachycardia is a life threating arrhythmia with large admission rate. In this analysis, we aim to investigate the impact of anemia in patients admitted due to ventricular tachycardia in terms of mortality, length of stay and total hospital charges. **Methods**: This is an analysis of the National Inpatient Sample Database of the years 2016-2020. Patients admitted with a primary diagnosis of ventricular tachycardia, with or without a secondary diagnosis of anemia were identified using the ICD-CM codes. The primary outcome was mortality. Secondary outcomes were length of stay and resources utilization. Multivariate logistic analysis was performed, and outcomes were adjusted by age, gender, race, Charlson comorbidity index, hospital location, size, region, teaching status and insurance. Data was considered statistically significant with p-value <0.05. **Results**: Among 221720 patients who had a primary diagnosis of any anemia with odds ratio 1.95, p value < 0.001, 95% Confidence Interval 2.78 - 3.41. Patients with anemia of any type stayed 3.09 more days in the hospital, p value < 0.001, 95% Confidence Interval 2.78 - 3.41. Patients with anemia also had an increase on their total hospital charges by 61507.92, p value < 0.001, 95% Confidence Interval 53771.36 - 69244.48. **Conclusion:** Patients with anemia had 1.95 higher mortality rate, stayed 3.09 more days in the hospital and had a total hospital cost higher by 61507.92\$. Anemia can be a risk marker within patients admitted with ventricular tachycardia, more studies needed to investigate if the treatment of anemia improves the outcome.

INTRODUCTION

Ventricular arrhythmias manifest as a considerable etiological factor contributing to sudden cardiac death, underpinning the necessity to comprehend associated risks¹. Ventricular tachycardia, delineated by the manifestation of wide complex tachycardia, is characterized by a rate exceeding 100 beats per minute with three or more consecutive beats, thereby substantiating its clinical definition². The manifestation of this condition can either be sustained or non-sustained, with the former denoting durations exceeding 30 seconds²

These classifications of arrhythmias are implicated in a substantial proportion of sudden cardiac death incidents in the United States, accounting for the majority¹, ³. Moreover, they represent 8% of all recorded instances of wide complex tachycardias4. Structural heart disease is predominantly linked to ventricular tachycardia5, and a significant correlation with coronary artery disease is also evident6. As such, the imperative nature of discerning the risks correlated with this pathological condition is clear. Anemia has been demonstrated to affect outcomes of atrial fibrillation^{7,8,9} and studies showed its association with supraventricular tachycardia¹⁰. Anemia is also known to increase cardiovascular morbidity and mortality¹¹. Although There is poor data correlating anemia and ventricular tachycardia.

In this study, the authors aim to study the outcomes in terms of mortality, length of stay and total hospital charges in patients with a primary diagnosis of Ventricular Tachycardia and secondary diagnosis of anemia.

METHODS

This is a retrospective cohort study in which was made using the National Inpatient Sample (NIS) from 2016 to 2020 which is publicly available from Healthcare Cost & Utilization Project. Patients admitted with a primary diagnosis of Ventricular Tachycardia were identified using the International Classification of Diseases, Tenth Revision, Clinical Modification (ICD-10CM) codes. Anemias were identified using the ICD-10CM codes and were also subdivided into groups and subgroups (Figure 1).

Inclusion criteria were patients with primary diagnosis of Ventricular tachycardia, older than 18 years and admitted in a non-elective basis. Stata/BE was used to analyze the data.

Study End Point

Inpatient mortality of adult patients admitted in a non-elective basis with primary diagnosis of Ventricular Tachycardia was analyzed in patients with or without anemias as the primary outcome. Length of Stay and Total Hospital charges were also analyzed as secondary outcomes.

Statistical Analysis

Population characteristic analyses were made with percentages for categorical variables and means for continuous variables. Chi-square test or Fisher's exact test was used for categorical variables and Mann-Whitney U test for continuous variables. All groups and subgroups of anemia were used as dependent variables. For the descriptive population was used only the Total Anemias group. Statistical significance analysis was considered with p value less than 0.05.

For the primary outcome and secondary outcomes, firstly the variables that significantly impacted the result were defined as those with a p-value less than 0.2 on the unadjusted odds ratio (OR) using Cochran-Mantel-Haenszel test. This selection of significant variables for the adjustment on primary and secondary outcomes tests were made to avoid overfitting. Age, median income per patient zip code, Charlson comorbidity index, and insurance coverage type had p-value less than 0.2 and were considered significant for the adjustment of the OR and coefficient in the primary and secondary outcomes.

Primary outcome was obtained with OR using Cochran-Mantel-Haenszel test adjusted for the significant variables within all anemia groups. Secondary outcomes were obtained using adjusted linear regression for the significant variables within all anemia groups.

RESULTS

Between 2016 and 2020 there were 221720 patients admitted with a primary diagnosis of Ventricular Tachycardia. The characteristics of the population are demonstrated on Table 1.

Population Characteristics

Because we had 0 patients with secondary diagnosis of Acquired Red Cell Aplasia, Sideroblastic Anemia and Congenital Anemia, these subgroups were removed from the analysis.

Primary Outcome

For the primary outcome of inpatient mortality, the Odds Ratio was adjusted for the significant variables of age, median income per patient zip code, Charlson comorbidity index, and insurance coverage type. Crude outcomes can be observed on Table 2. We could observe that patients with any type of anemia had 1.95 more chance of dying from Ventricular Tachycardia than the general population. Some anemia subgroups also had statistically significant Odds Ratio for mortality as shown in Table 3. Patients with Enzyme Deficiency anemia and Thalassemia did not have any deaths on their subgroup.

Secondary Outcomes

Regarding the duration of inpatient hospitalization, it was observed that patients diagnosed with any variant of anemia exhibited a mean prolonged stay of 3.09 days relative to the general patient population. A tabulated presentation of the findings related to the respective subgroups of anemias is delineated in Table 4.

We could also observe that anemia also impacts the Total Hospital Charges (Table 5). Patients with anemia have a mean increase of 61507.92 dollars of their hospital resources utilization during admission.

DISCUSSION

In this retrospective cohort, we aimed to verify the existence of a correlation between anemia and ventricular tachycardia outcomes in the inpatient population. Anemia has a high prevalence in the US^{12} and it is associated with poor outcomes in heart diseases due to its hyperdynamic state¹³⁻¹⁶. Although there are data on the relation between anemia and heart failure and atrial fibrillation⁷⁻⁹, its relation to ventricular tachycardia lack evidence. In this study, authors used the national inpatient sample from 2016 to 2020 to analyze the difference in outcomes in patients with a primary diagnosis of ventricular tachycardia and anemia compared with the general population.

Weidner K et al found in their study comparing the relation between anemia and ventricular tachyarrhythmias an increase in the mortality rate in patients with anemia¹⁷. It was a study with 2184 patients, retrospective, registry-based in patients who developed ventricular tachyarrhythmia. In their study, length of stay, and total hospital charges were not analyzed and neither anemias were classified on subtypes. In our study the primary outcome of death had statistical odds ratio of 1.95 with p < 0.001 for patients with any type of anemia, they also stayed an average of 3.09 more days and had a cost of an average of 61507.92 more dollars. Our mortality outcome is similar to the one Weidner K et al had on their study. There is strong data suggesting anemia is related to worse outcomes in patients with ventricular tachycardia.

Although we aimed to analyze all types of anemia in this study, our population was composed mostly of iron deficiency anemia, chronic diseases anemia and other unspecified anemias. The results from other subtypes might have been impacted by sample size.

This study has some limitations, firstly, the secondary diagnosis ICD 10 code can be misclassified at the time of putting it on the hospital system. Secondary diagnosis also can be part of medical history instead of an active problem, although anemia usually is a chronic condition, some patients with resolved anemia could have it on the list as past medical history. Several conditions can have anemia as consequence and not all of them are considered when calculating the Charlson Comorbidity Index to adjust the results making it a possible confounder. It is important to do a prospective study in this subject for better evaluation and also to see if treatment of anemia improves outcomes on these patients.

CONCLUSION

Patients presenting with anemia have been observed to experience adverse outcomes when admitted to the hospital with a primary diagnosis of ventricular tachycardia. It can be postulated that anemia may serve as a risk indicator for the prognosis associated with ventricular tachycardia. However, this study refrains from examining whether the amelioration of underlying anemia impacts mortality rates or contributes to a reduction in the duration of hospital stay. Further research investigations are imperative to shed light on the possibility of anemia rectification exerting an impact on the clinical prognosis of ventricular tachycardia patients.

REFERENCES

- Tang PT, Shenasa M, Boyle NG. Ventricular Arrhythmias and Sudden Cardiac Death. Card Electrophysiol Clin. 2017 Dec;9(4):693-708. doi: 10.1016/j.ccep.2017.08.004. PMID: 29173411.
- Nikolic G. Definition of ventricular tachycardia. Am J Cardiol. 1982 Nov;50(5):1197-8. doi: 10.1016/0002-9149(82)90443-x. PMID: 7137043.
- McNally B, Robb R, Mehta M, Vellano K, Valderrama AL, Yoon PW, Sasson C, Crouch A, Perez AB, Merritt R, Kellermann A; Centers for Disease Control and Prevention. Out-of-hospital cardiac arrest surveillance — Cardiac Arrest Registry to Enhance Survival (CARES), United States, October 1, 2005–December 31, 2010. MMWR Surveill Summ. 2011 Jul 29;60(8):1-19. PMID: 21796098.
- 4. Alzand BS, Crijns HJ. Diagnostic criteria of broad QRS complex tachycardia: decades of evolution. Europace. 2011 Apr;13(4):465-72. doi: 10.1093/europace/euq430. Epub 2010 Dec 3. PMID: 21131372.
- Koplan BA, Stevenson WG. Ventricular tachycardia and sudden cardiac death. Mayo Clin Proc. 2009 Mar;84(3):289-97. doi: 10.1016/S0025-6196(11)61149-X. Erratum in: Mayo Clin Proc. 2009 May;84(5):483. PMID: 19252119; PMCID: PMC2664600.
- Aronow WS, Ahn C, Mercando AD, Epstein S, Kronzon I. Prevalence and association of ventricular tachycardia and complex ventricular arrhythmias with new coronary events in older men and women with and without cardiovascular disease. J Gerontol A Biol Sci Med Sci. 2002 Mar;57(3):M178-80. doi: 10.1093/gerona/57.3.m178. PMID: 11867655.
- Hanna-Rivero, N., Tu, S.J., Elliott, A.D. et al. Anemia and iron deficiency in patients with atrial fibrillation. BMC Cardiovasc Disord 22, 204 (2022). https://doi.org/10.1186/s12872-022-02633-6
- Sertcakacilar G, Yildiz GO. Association between Anemia and New-Onset Atrial Fibrillation in Critically Ill Patients in the Intensive Care Unit: A Retrospective Cohort Analysis. Clin Pract. 2022 Jul 12;12(4):533-544. doi: 10.3390/clinpract12040057. PMID: 35892443; PMCID: PMC9326761.
- Lim, WH., Choi, EK., Han, KD. et al. Impact of Hemoglobin Levels and Their Dynamic Changes on the Risk of Atrial Fibrillation: A Nationwide Population-Based Study. Sci Rep 10, 6762 (2020). https://doi.org/10.1038/s41598-020-63878-9
- Corwin, Daniel J. MD*; Scarfone, Richard J. MD*+. Supraventricular Tachycardia Associated With Severe Anemia. Pediatric Emergency Care 34(4):p e75-e78, April 2018. | DOI: 10.1097/PEC.000000000001134
- Mozos I. Mechanisms linking red blood cell disorders and cardiovascular diseases. Biomed Res Int. 2015;2015:682054. doi: 10.1155/2015/682054. Epub 2015 Feb 1. PMID: 25710019; PMCID: PMC4331396.
- Le CH. The Prevalence of Anemia and Moderate-Severe Anemia in the US Population (NHANES 2003-2012). PLoS One. 2016 Nov 15;11(11):e0166635. doi: 10.1371/journal.pone.0166635. PMID: 27846276; PMCID: PMC5112924.
- Brucks S, Little WC, Chao T, Rideman RL, Upadhya B, Wesley-Farrington D, Sane DC. Relation of anemia to diastolic heart failure and the effect on outcome. Am J Cardiol. 2004 Apr 15;93(8):1055-7. doi: 10.1016/j.amjcard.2003.12.062. PMID: 15081458.
- Tang YD, Katz SD. Anemia in chronic heart failure: prevalence, etiology, clinical correlates, and treatment options. Circulation. 2006 May 23;113(20):2454-61. doi: 10.1161/CIRCULATION-AHA.105.583666. PMID: 16717164.
- Müller R, Steffen HM, Brunner R, Saric J, Pollok M, Baldamus CA, Kaufmann W. Changes in the alpha adrenergic system and increase in blood pressure with recombinant human erythropoietin (rHuEpo) therapy for renal anemia. Clin Invest Med. 1991 Dec;14(6):614-22. PMID: 1665406.
- 16. Young JB, Abraham WT, Albert NM, Gattis Stough W, Gheorghiade M, Greenberg BH, O'Connor CM, She L, Sun JL, Yancy CW, Fonarow GC; OPTIMIZE-HF Investigators and Coordinators. Relation of low hemoglobin and anemia to morbidity and mortality in patients hospitalized with heart failure (insight from the OPTIMIZE-HF registry). Am J Cardiol. 2008 Jan 15;101(2):223-30. doi: 10.1016/j.amjcard.2007.07.067. PMID: 18178411.
- 17. Weidner K, von Zworowsky M, Schupp T, Hoppner J, Kittel M, Rusnak J, Kim SH, Abumayyaleh M, Borggrefe M, Barth C, Ellguth D, Taton G, Reiser L, Bollow A, Meininghaus DG, Bertsch T,

El-Battrawy I, Akin I, Behnes M. Effect of Anemia on the Prognosis of Patients with Ventricular Tachyarrhythmias. Am J Cardiol. 2021 Sep 1;154:54-62. doi: 10.1016/j.amjcard.2021.05.045. Epub 2021 Jul 8. PMID: 34247729.

TABLES AND FIGURES

Iron Anemia	Total Nutritional Anemias	Total Anemias
B12 Deficiency		
Folate Deficiency		
Other Nutritional Deficiency		
Enzyme Deficiency	Total Hemolytic Anemias	
Thalassemia	·	
Sickle Cell		
Hereditary Hemolytic		
Acquired Hemolytic		
Acquired Red Cell Aplasia	Total Aplastic Anemias	
Other Aplastic Anemias		
Post Hemorrhagic Anemias		
Chronic Disease Anemia		
Sideroblastic Anemia		
Congenital Anemia		
Chemotherapy Anemia		
Other Specified Anemia	Total Other Anemias	
Other Anemias		

Figure 1 – Division of Anemia groups and subgroups

Patient Characteristics		Without Anemia	With Anemia	Total	p value
Sex	Male	75.4%	70.62%	74.56%	
	Female	24.6%	29.38%	25.44%	< 0.01
AGE (mean)		66.09	68.63		
RACE	White	77.17%	68.76%	75.69%	
	Black	12.58%	19.88%	13.87%	
	Hispanic	5.7%	6.3%	5.81%	
	Asian	1.89%	2.02%	1.92%	
	Native American	0.45%	0.51%	0.46%	
	Other	0.22%	2.53%	2.26%	< 0.01
Charlson Index	0	10.28%	3.55%	9.1%	
	1	15.51%	7.68%	14.13%	
	2	20.31%	12.94%	19.02%	
	> 3	53.9%	75.84%	57.75%	< 0.01
Median income	<49999	26.66%	29.76%	27.2%	
	50000-64999	26.74%	24.95%	26.42%	
	65000-85.999	24.96%	24.43%	24.86%	
	>86000	21.65%	20.85%	21.51%	< 0.01
Type Insurance	Medicare	63.71%	73.83%	65.49%	
01	Medicaid	8.7%	8.3%	8.63%	
	Private insurance	25.27%	16.15%	23.67%	
	Self-Pay	2.32%	1.72%	2.21%	< 0.01
Region Hospital	Northeast	21.33%	19.29%	20.97%	

Patient Characterist	tics	Without Anemia	With Anemia	Total	p value
	Midwest	23.05%	25.11%	23.41%	
	South	38.23%	39.08%	38.38%	
	West	17.39%	16.52%	17.24%	< 0.01
Bed Size	Small	14.84%	14.13%	14.72%	
	Medium	27.31%	25.75%	27.03%	
	Large	57.85%	60.12%	58.25%	< 0.01
Location	Rural	5.32%	4.3%	5.14%	
	Urban	94.68%	95.7%	94.86%	< 0.01
Teaching Hosp	No	23.97%	21.25%	23.5%	
	Yes	76.03%	78.75%	76.5%	< 0.01

Table 1 – Population Characteristics

Totals	Number of Patients	Proportion $(\%)$
Ventricular tachycardia	221720	100
Iron Anemia	6550	2.95
B12 Deficiency	225	0.1
Folate Deficiency	30	0.01
Other Nutritional Deficiency	1635	0.74
Total Nutritional Anemias	8300	3.74
Enzyme Deficiency	5	0
Thalassemia	180	0.08
Sickle Cell	195	0.09
Hereditary Hemolytic	55	0.02
Acquired Hemolytic	165	0.07
Total Hemolytic Anemias	595	0.27
Acquired Red Cell Aplasia	0	0
Other Aplastic Anemias	1515	0.68
Post Hemorrhagic Anemias	4220	1.9
Chronic Disease Anemia	11515	5.19
Sideroblastic Anemia	0	0
Congenital Anemia	0	0
Chemotherapy Anemia	110	0.05
Total Aplastic Anemia	16620	7.5
Other Specified Anemia	150	0.07
Other Anemias	15475	6.98
Total Other Anemias	15620	7.04
Total Anemias	38925	17.56

Table 2 – Number of patients for each anemia group

Primary outcome adjusted with variables with p<0.2 $\,$

Types Anemia	Odds Ratio	Std Error	t	p value	95 Interval	95 Interval
Iron Deficiency	0.88	0.14	-0.78	0.437	0.64	1.21
B12 Deficiency	0.56	0.56	-0.58	0.563	0.08	3.99
Folate Deficiency	13.56	15.97	2.21	0.027	1.35	136.41
Other Nutritional	1.51	0.4	1.56	0.119	0.9	2.55

Total Nutritional	1.02	0.14	0.17	0.862	0.78	1.34
Enzyme Deficiency	1					
Thalassemia	1					
Sickle Cell	0.85	0.87	-0.15	0.877	0.12	6.32
Hereditary Hemolytic	32.92	25.63	4.49	< 0.001	7.15	151.45
Acquired Hemolytic	3.9	2.2	2.41	0.016	1.29	11.79
Hemolytic Anemias	2.61	0.95	2.65	0.008	1.28	5.32
Other Aplastic	1.3	0.36	0.94	0.345	0.76	2.23
Post Hemorrhagic	4.19	0.48	12.44	< 0.001	3.35	5.26
Chronic Disease	1.44	0.14	3.67	< 0.001	1.18	1.75
Chemotherapy	2.08	1.64	0.93	0.354	0.44	9.8
Total Aplastic	2.09	0.17	9.14	< 0.001	1.78	2.45
Other Specified	2.25	1.59	1.14	0.252	0.56	9
Other	1.69	0.14	6.31	< 0.001	1.43	1.98
Total Other	1.69	0.14	6.39	< 0.001	1.44	1.99
Total Anemias	1.95	0.12	10.78	< 0.001	1.73	2.2

Table 3 – Adjusted Odds Ratio for mortality for each anemia group.

LOS outcome adjusted with variables with p<0.2 $\,$

Types Anemia	Coefficient	Std Error	t	p value	95 Interval	95 Interval
Iron Deficiency	2.21	0.36	6.07	< 0.001	1.49	2.92
B12 Deficiency	1.04	0.72	1.43	0.153	-0.38	2.46
Folate Deficiency	2.53	1.84	1.37	0.17	-1.08	6.14
Other Nutritional	1.64	0.48	3.42	0.001	0.7	2.58
Total Nutritional	2.01	0.3	6.75	< 0.001	1.42	2.59
Enzyme Deficiency	-					
Thalassemia	-1.71	0.41	-4.13	< 0.001	-2.52	-0.9
Sickle Cell	-2.23	0.48	-4.64	< 0.001	-3.17	-1.29
Hereditary Hemolytic	1.77	1.08	1.64	0.102	-0.35	3.89
Acquired Hemolytic	5.91	3.71	1.59	0.111	-1.37	13.18
Hemolytic Anemias	0.67	1.18	0.56	0.72	-1.65	2.98
Other Aplastic	2.89	1.14	2.53	0.011	0.65	5.12
Post Hemorrhagic	13.34	0.89	14.97	< 0.001	11.59	15.09
Chronic Disease	1.79	0.27	6.62	< 0.001	1.26	2.32
Chemotherapy	0.29	1.34	0.21	0.831	-2.34	2.91
Total Aplastic	4.51	0.3	14.84	< 0.001	3.92	5.11
Other Specified	1.33	0.92	1.45	0.148	-0.47	3.12
Other	1.46	0.17	8.75	< 0.001	1.14	1.79
Total Other	1.46	0.17	8.8	< 0.001	1.14	1.79
Total Anemias	3.09	0.16	19.08	< 0.001	2.78	3.41

Table 4 – Results in terms of Length of Stay for each anemia subgroup.

TOTCHG outcome adjusted with variables with p<0.2 $\,$

Types Anemia	Coefficient	Std Error	t	p -value	95 %Interval	95 %Interval
Iron Deficiency	30924.8	5240.32	5.9	< 0.001	20653.3	41196.3
B12 Deficiency	-9250.92	14960.75	-0.62	0.536	-38575.35	20073.51
Folate Deficiency	11688.2	40182.19	0.29	0.771	-67072.54	90448.94

Other Nutritional	14372.68	8377.33	1.72	0.086	-2047.65	30793.01
Total Nutritional	27198.45	4513.96	6.03	< 0.001	18350.67	36046.22
Enzyme Deficiency	1					
Thalassemia	-23836.3	11736.13	-2.03	0.042	-46840.19	-832.43
Sickle Cell	-24873.1	14602.33	-1.7	0.089	-53495.03	3748.75
Hereditary Hemolytic	72837.17	36885.01	1.97	0.048	539.2	145135.1
Acquired Hemolytic	162320.3	80914.66	2.01	0.045	3720.25	320920.4
Hemolytic Anemias	37118.2	26123.28	1.42	0.155	-14085.79	88322.19
Other Aplastic	42449.89	27059.34	1.57	0.117	-10588.86	95488.64
Post Hemorrhagic	324171.5	24617.66	13.17	< 0.001	275918.7	372424.4
Chronic Disease	30007.2	5953.45	5.04	< 0.001	18337.89	41676.51
Chemotherapy	-49683	9090.21	-5.47	< 0.001	-67500.65	-31865.39
Total Aplastic	99666.91	7718.92	12.91	< 0.001	84537.12	114796.7
Other Specified	3532.51	14359.26	0.25	0.806	-24612.93	31677.96
Other	24778.2	3812.03	6.5	< 0.001	17306.27	32250.13
Total Other	24607.27	3779.81	6.51	< 0.001	17198.5	32016.05
Total Anemias	61507.92	3947.04	15.58	< 0.001	53771.36	69244.48

Table 5 – Total hospital charges regression by anemia subgroups